

Address 1900 Polaris Parkway
Columbus, OH 43240-4035
Phone (800) METTLER
(800) 638-8537

www.mt.com

Quotation 323137097

City of Key West
Jenny Metz
PO Box 1409
Key West, FL 33041

Send your PO to
MTOOrderUS@mt.com

Sales Office
Mr. William Wilson
Phone +1 (859) 338 4361
E-Mail william.wilson@mt.com

Sales Representative
Mr. Max Smith
Mobile +1 (813) 731 5478
E-Mail max.smith@mt.com

Dear Jenny Metz,

Thank you for choosing METTLER TOLEDO. As a world-leading manufacturer of high precision products, our goal is to make measurement as simple as possible. In addition, METTLER TOLEDO provides a wide range of products designed to help users save time and money, as well as improve accuracy and reliability.

METTLER TOLEDO seeks to provide you, our valued customer, with an optimal solution to your application, process and business demands. From the onset of your immediate or long-term project needs, we are available as a resource to help specify and select quality measurement systems and software products appropriate to your application. For METTLER TOLEDO, our solutions represent a valuable combination of performance, accuracy and precision. In addition, our field service organization is comprised of factory-certified technicians who are trained to meet high quality standards. You can also log on to www.mt.com for up-to-date application and operation details.

We are pleased to send you our quote and are certain this solution will meet your needs and expectations. Please do not hesitate to contact us with any further questions.

Thank you for your business.

William Wilson
Service Sales Representative



Address 1900 Polaris Parkway
 Columbus, OH 43240-4035
 Phone (800) METTLER
 (800) 638-8537

www.mt.com

Quotation 323137097

Sold-To / 300722060

City of Key West
 PO Box 1409
 Key West, FL 33041

Customer Contact

Name Jenny Metz
 Phone +1 (305) 809 3776
 E-Mail jenny.metz@cityofkeywest-fl.gov

Ship-To / 300722060

City of Key West
 3104 Flagler Ave
 Key West, FL 33041

Bill-To / 300722060

City of Key West
 PO Box 1409
 Key West, FL 33041

Item	Description	Product ID	Qty Unit	Price Per Unit	Discount	Total USD
10	Software DB MS Connect Scales and Business With a Professional Edge Approx. lead time excluding transport: 5 working days, shipping from: Columbus (Ohio, US) Commodity Code: 8523492020 Country of Origin: US Compatibility : Microsoft® Windows® 10 or 7 Pro. Intel® Processor (or equivalent), 2 GHz or Higher (required), 4 GB RAM, 32-bit or 64-bit system. Help Material : Step-by-step Interactive Instruction Languages : English, Chinese, German, Spanish, French, Italian, Portuguese, Russian, Polish Certification : NTEP,OIML User Interface : Touchscreen friendly Weigh Screen	61046589	1 EA	6,250.00		6,250.00
	<p>Vehicle Transaction and Data Management Faster Transaction Processing Bottlenecks at your weighbridge can be frustrating. DataBridge software can reduce by up to 50% the time to process weigh tickets. Reduce Transaction Errors Point-and-click processing improves the efficiency and accuracy of your weighing operation, eliminating up to 90% of the errors caused by manual entry. Manage your Business your Way With extensive reporting capabilities, DataBridge allows you to analyze trends rapidly, so helping you to manage your business effectively.</p> <p>For more Details: www.mt.com/DataBridge</p>					
20	Software DB MS Touch IND9UT Approx. lead time excluding transport: working days	30215052	2 EA	2,670.00		5,340.00
30	Software DB MS Client Approx. lead time excluding transport: 5 working days, shipping from: Columbus (Ohio, US) Commodity Code: 9999999999 Country of Origin: US	30093598	3 EA	1,150.00		3,450.00



Address 1900 Polaris Parkway
 Columbus, OH 43240-4035
 Phone (800) METTLER
 (800) 638-8537

www.mt.com

Quotation 323137097

Item	Description	Product ID	Qty Unit	Price Per Unit	Discount	Total USD
40	Terminal IND9U DB1,Std Unit,with Printer Approx. lead time excluding transport: 5 working days, shipping from: Worthington (Ohio, US) Commodity Code: 8423909000 Country of Origin: US	30723015	2 EA	13,200.00	(15.00%)	22,440.00
50	SMARTPASS,RS-232,10-4002-010 Approx. lead time excluding transport: 26 working days, shipping from: Worthington (Ohio, US) Commodity Code: 8471609050 Country of Origin: US	64052037	2 EA	12,100.00		24,200.00
60	CABLE,SMARTPASS,5FT,58-1620-001 Approx. lead time excluding transport: same day, shipping from: Worthington (Ohio, US) Commodity Code: 8544429090 Country of Origin: US	64051453	2 EA	675.00		1,350.00
70	CABLE, 6 COND, 3 PAIRS Approx. lead time excluding transport: same day, shipping from: Worthington (Ohio, US) Commodity Code: 8544493080 Country of Origin: US	64064834	100 FT	4.25		425.00
80	Terminal SST J-Box W/8 W/Smartpass Approx. lead time excluding transport: 3 working days, shipping from: Worthington (Ohio, US) Commodity Code: 8536908530 Country of Origin: US	64069679	2 EA	1,010.00		2,020.00
90	Software DB MS Image Capture Approx. lead time excluding transport: working days	30215051	2 EA	2,100.00		4,200.00
100	PAPER,THERMAL ROLL,80MM,7.5IN DIA Approx. lead time excluding transport: same day, shipping from: Worthington (Ohio, US) Commodity Code: 4811909030 Country of Origin: JP	64066380	4 EA	170.50		682.00
110	V-I.COMM (3 UNIT#LEF-3, (#90013192) Approx. lead time excluding transport: 30 working days, shipping from: Worthington (Ohio, US) Commodity Code: 8517610000 Country of Origin: JP	64052143	2 EA	628.00		1,256.00
120	V-12VDC PW SP #PS-1225UL Approx. lead time excluding transport: 22 working days, shipping from: Worthington (Ohio, US) Commodity Code: 8504409580 Country of Origin: US	64052144	2 EA	512.00		1,024.00

Mettler-Toledo, LLC

Address 1900 Polaris Parkway
 Columbus, OH 43240-4035
 Phone (800) METTLER
 (800) 638-8537

www.mt.com

Quotation 323137097

Item	Description	Product ID	Qty Unit	Price Per Unit	Discount	Total USD
130	Project Management	30097616	1 EA	2,000.00		2,000.00
140	Implementation and training	30097616	3 EA	2,900.00		8,700.00
170	ELECTRICAL CONTRACTING	63080050	1 EA	18,000.00		18,000.00
180	AT5118 Smart Pass Tags	30097615	50 EA	50.00		2,500.00
190	2 Bollards, freight, install, crane etc	63080061	1 EA	14,000.00		14,000.00
Order Handling Charge						18.00
Product Sub-Total						117,855.00

Services

Item	Service Description	Qty Unit	Price Per Unit	Price	Total USD
11	Service Plan Software Care Standard Products being serviced Software DB MS Included Services Software Evolution Hours of Operation: Monday – Friday, 8 am – 5 pm Response: 1 Day Response Software Coverage Remote Hours of Operation: Monday – Friday, 8 am – 5 pm Response: 1 Day Response Specific Terms & Conditions may apply	1 EA	958.00		958.00
150	Service Plan Software Care Standard Products being serviced Software DB MS Client Software DB MS Image Capture Software DB MS Touch IND9UT Included Services Software Evolution Hours of Operation: Monday – Friday, 8 am – 5 pm Response: 1 Day Response Software Coverage Remote Hours of Operation: Monday – Friday, 8 am – 5 pm Response: 1 Day Response Specific Terms & Conditions may apply	1 EA 2 EA 2 EA	967.50 483.75 483.75		967.50

Mettler-Toledo, LLC

Address 1900 Polaris Parkway
Columbus, OH 43240-4035
Phone (800) METTLER
(800) 638-8537

www.mt.com

Quotation 323137097

Services

Item	Service Description	Qty	Unit	Price Per Unit	Price	Total USD
160	Install Equipment EA					4,000.00
Service Sub-Total						5,925.50
Total excl. tax						123,780.50

METTLER TOLEDO



Address 1900 Polaris Parkway
Columbus, OH 43240-4035
Phone (800) METTLER
(800) 638-8537

www.mt.com

Quotation 323137097

Terms and Conditions

Payment Terms

Incoterms 2020

Quotation Valid Until

Ordering Costs

Prices and Taxes

General Conditions

Due 30 Days from Invoice Date

FCA MT Columbus/Worthington

04/05/2024

Shipping charges are not included.

State and local taxes are not included.

This order is exclusively subject to METTLER TOLEDO's standard terms and conditions of sales and service found at www.mt.com/terms which are incorporated herein. METTLER TOLEDO expressly rejects any additional, conflicting or different terms and conditions. MT may require a down payment that is due at order placement and any other payments are due net 30 calendar days from the date of invoice. Prices may be adjusted at the time of performance to include any necessary surcharge(s).

Mettler-Toledo specifically rejects any provision mandating health measures or safety protocols related to COVID-19, including vaccination, on Mettler-Toledo personnel or Mettler-Toledo operations that Mettler-Toledo has not expressly agreed to in writing, with the exception of on-site requirements.

This order is exclusively subject to METTLER TOLEDO's standard terms and conditions of sales and service found at www.mt.com/terms which are incorporated herein. METTLER TOLEDO expressly rejects any additional, conflicting or different terms and conditions.

Return Policy: This order is expressly subject to the METTLER TOLEDO Return Policy, which can be accessed at www.mt.com/legal and is incorporated herein by reference.